
EE 230 —  HW 3.12               Name_________________________________________

For the phase-shift oscillator circuit shown below,  find the expression for the loop gain Aβ(jω).  
 
 

                           
 
 
 
 
 
 
 
 
 
 
Hint: Conceptually break the circuit at node x.  Then work backwards to find vx in terms of vo. 
 
Find an expression for the expected oscillation frequency (in terms of R and L) and the minimum value 
of Rf needed to induce oscillation. (i.e. find the minimum gain needed for the inverting amp.) 
 
For R = 10 kΩ and L = 1 mH, calculate a value for the oscillation frequency and the minimum RF 
needed for oscillation. 
 
 
ωo = ________________________________; RF (min) = ________________________________ 
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